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1. There is only one market available, self-sufficient with
no outside influence.

2. All farmers are market oriented, producing goods for
sale.

3. The physical environment is uniform, there are no
rivers or mountains.

4. All points are at equal distances from market and
have equal access to the market.

5. All farmers act to maximize profits.

6. The dietary preferences of the population are those of
Germanic Europeans.



Von Thunen Model 


Basis:



 

Below, list any information you think is important.

1. Village / Central City

2. Labor-Intensive (veg, dairy)
3. Managed Forest
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4. Extensive crops (grains)
5. Grazing
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Figure 11.7
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Map A shows Von Thunen applied if NYC was the only market; Map B changes the model based on climate and what grows well in different climates…looks pretty accurate huh? Why do Southern California and Florida not fit the model?
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